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1. A4 HBHLFRE (g) « WF—ABmL)A 1: 5~10 FIEG] CEFREZ 0.1g A4, A ImL
F—) HATIKB S . 16000g, 4°CES.0r 20min, B35 B vk 420 .

2. 4. AR ERARSeE ot o BF AR (mL) A 500~1000: 1 BIEGET CGEEX 500 540
TN ImL 37—, UK S DA R 40 . (T2 300w, A 3 #p, [EIFE 7 #b, EEFTE] 3min);
16000g, 4°CES.Lr 20min, BB vk B4R,
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ADH # & #4E:

L A 66T TR 30 min, 5K H] 340 nm, ZE1R/KIH

2. RN =TE 25°CRIE AR 30 min.

3. 1E ImL A FE L@ MR KN 100pL #E4_F & 800uL iRF =F1 100pL 70U, Mk 55T 340nm
WEW A, 73 Atk 15s Al 75s ISIROGIE, 20 Alide A1 Fl A2, AA MIEE=A1-A2.
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THHEAR:
(D fHE AR ETH
TEMERALE X 25°C R P Inmol NADH 4y 1 ANEGYE HL47
ADH (nmol/min/mg prot) =(AA+e+dxV X &x10°) +(CprxV ££)=T
=1608xA+Cpr
(2) FHEFEA I BT A
T AL E X 25°C R A SR A AL Inmol NADH Ay 1 MBI B4 .
ADH (nmol/min/g £ H) =(AA+e+dxV K Ex10%) +(WxV FE+V FEE)=T
=1608x AA+W
(3) famp T
TEHERALE X 25°C A 104 AN A5 B AL Inmol NADH Jy 1 ANEFE B4 .
ADH (nmol/min/10%cell) =(AA+e=+dxV i@ x10%)+(ABEE XV FE+V FRE)=T
=1608x A A 4 1 % &
(@) AR5
T RALE X 25°C R THILE /80 %4k 1Inmol NADH 4y 1 ANEGE HL47
ADH (nmol/min/mL) =(AA+e=dxV [ x10%) +V #£=T
=1608xAA

e: NADH EE/RVE R E, 6.22x10°L/mol/cm; d: LABILYAE, 1em; V & : MNAKRSET,
1000uL=0.001 L; Cpr: FiEWEHEPUKRE, mg/mL; W: FEAFE, g VFE: AR RS BiERE
., 100uL=0.1 mL; T: JMNIE], Imin.
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